CCLair® SIREANEBR Y ERS B

SAER
2. WA EE (10-1007)

i e e e . — i — - — p—
= K PSS PR
| d2 ¢ 2

A= C E Hmax Hmn C1 E1 H1 S1 S2 S3 84 L TIT2 T3 d1d1 d2d2 J(GB70-85) F
Y108 107 58 108 100 65 29 46 24 14 177 11 19 08016 M8x50
Y258 117 66 113 103 75 33 52 28 18 19 7 13 23 12022 M8x40 42
Y-638 128 82 115 106 86 41 56 30 22 22 7 19 29  ®18(25 M8x45
Y-100B 167 96 137 128 120 48 74 38 38 30 7 22 34 024035 M10x60 | ®50

16 & 37 R

B8R
RESREREShEZRRER  ERTEHEO , EAEATIZRERESEHH.
RAMEZREEHEEOS— , EXNREBZREAERHD , FE—HO—HO. PHEH , ONE
i,

- P - B 10 8B
I T TFI
TOHBFR P =1t — EEFNB=IRNERE
AWRES : B=2.5MPa FTARC=1280ER
AFRFEE(L/min):10,25,63
HERS¥
e u‘ﬁﬁ ﬂ%]EJ:T:ﬁEI (‘Mpa; =Tl EORS AE
b 0 L/min 5PN BN RGN ] (mm)
T P-B10(B) 10 7 1/4" 8 12
—_ P-B25(B) 25 2.5 0.3 Z 3/8" ®12 ®16
_P-B63(B) 63 Z.3/4" ®18 ®20

> E-13 =R DA



CCLair®

LIKAMULBRAERFZENRE

. wiF T
e ——H 1
v I ——
[ )
1.4 -
TN |
] I
I M
S1; S2 | ZPT
T it |
- C
B Cmax  Cmin E H st # s2 | Ef H1 1 72 F
P-B10 147 137 54 49 727 14 27 22 Z1/4” D42
P-B25 156 147 60 55 29 18 30 25 71/8” Z3/8” %27
P-B63 173 158 74 64 34 22 37 27 Z3/4” D50
2. | EHE
|'hF_F'|
' |
i | :
; !
] T
S + !
2] il :
Sl ar 1 | I
ae | [ ]
&) ' ! |
-
: —t - __;.__1__
1oy mt | U}I |
U oD -+ |
o) |
m* | |
LN . S -
3 1 l l |
L A1 1 5.
| ] H
T L | |
= 13! Tzi
«Q .
- E1
E
EilR= Cmax | Cmin E H | el E1 S1 S2 S3 T1T2 T3 d1o1 J, J F
P-B10B| 145 137 58 46 65 29 24 14 17 11 19 28% M8x50 42
7P—E5877 71576 147 66 52 75 33 28 18 19 13 23 ®12018 | M8x40 42
»P*B63B‘ 173 158 82 56 86 41 30 22 22 19 29 ‘¢18¢25 M8x45 50
> E-14 RIS AR5




